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—WEE (&R -23.2 68.7 4.7 -25.4 1.0 -14.5-29.7-11.7-23.6 52.4 —29.8-25.0-14.4-30.0
=== HEEE 6F) -40.0 11.9 -2.4 -33.3-20.0 4.8 4.2 -7.1 -20.0-48.9 15.0 -9.1 -31.1 -2.1
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R4/8 R5/8 9H 10H 118 12H Ré/1 2H 3H 4 5H 6H 7H 8H
— 1,33 1.23 1.25 1.28 1.30 1.30 1.27 1.23 1.20 1.10 1.08 1.08 1.16 1.22
—_— e 1.24 1.16 1.20 1.19 1.22 1.18 1.14 1.12 1.19 1.02 0.91 0.98 1.03 1.17
= cEdl 114 0.86 0.86 0.87 0.87 0.95 0.96 0.83 0.73 0.73 0.84 0.86 0.98 1.12
= R 0. 89 0.89 0.91 0.89 0.91 0.99 1.00 0.85 0.90 0.87 0.79 0.76 0.85 0.89
cecece BZE O 0.86 0.72 0.73 0.74 0.72 0.75 0.67 0.69 0.69 0.61 0.71 0.72 0.76 0.73
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== A (2R 682 159 2440 2093 2161 188 3983 537 631 1242 378 823 771 1772
fAfE (R 60 60 1790 44 2002 100 220 O 444 512 226 89 0 74
R () T 3 8 7 4 3 9 4 3 8 6 9 8 5
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